A 3 NV C D

REV ECO DWN DATE

A 20018537 VJL 1 1/20/98

8-32 X .500 SCREW

SMALL FLAT WASHER
4" PANDUIT FIBER GUIDE

1/4-20 X 1.00 T-BOLT (SHOWN FOR REFERENCE)

LARGE FLAT WASHER
LARGE LOCK WASHER
| /4-20 NUT
VINYL CAP \\\2§ZL\\\ CONVERSION BRACKET

THE T-BOLT IS DESIGNED TO FIT THROUGH THE SLOT IN
THE CONVERSION BRACKET AND INTO THE CHANNEL ON
THE SIDE OF THE ADC FIBER GUIDE. WHEN THE T-BOLT

IS IN THE CHANNEL OF THE FIBER GUIDE TURN IT
CLOCKWISE AND TIGHTEN THE NUT.

4" ADC FIBER GUIDE
(SHOWN FOR REFERENCE)

; SMALL FLAT WASHER

% SMALL LOCK WASHER
8-32 NUT

2V
NOTES: S
([ap)
| THIS CONVERSION KIT INCLUDES THE FOLLOWING: S
THE ADC FIBER GUIDE 1S TO BE PLACED INSIDE OF SS
T GORVERS 0N BRALKEL ) THE SLOTTED TABS ON THE CONVERSION BRACKET.
_ ARéE R T IR YOU WILL HAVE TO GENTLY SQUEEZE THE TOP OF Ej
L LAT _WASHER (4 THE FIBER GUIDE TO FIT IT INTO THE BRACKET.
- LARGE SPLIT LOCK WASHER (4) Ej INFORMAT ION ON THIS DOCUMENT 1S |TITLE
e IR Sl | CONVERS 1N BRACKET KT
_ 8_32 X 500 SCREW (3) A@@ WITHOUT WRITTEN CONSENT OF ADC. |NSTALLAT|ON DRAW'NG
_ SMALL FLAT WASHER (6) TOLERANCE UNLESS .XXE:I:.OZ C DRAWING NUMBER A
- SMALL LOCK WASHER (3) I Ry U TV VI sl BETE 1041769 REV
- 8-32 NUT (3) enoR: PAUL LANCE
TELECOMMUNICATIONS | DO NOT SCALE DRAWING own: VERN LOCH SHT. | oF |

A 3 T C D




